Ingelstad BK
Par 2019-09-09

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poang % Namn MID Klubb
1 4 136 61.82 Pia Olofsson - Agneta Svahn 599 626 Ryds BK - Vaxjébridgen
2 6 133 60.45  Anders Dahl - Gunnar Nilsson 13441 875 Vaxjobridgen
3 12 127 57.73  Peter Rundquist - Roy Olsson 42063 60802 Ryds BK
4 7 125 56.82  Olle Nordstrom - Inge Magnusson 17733 7398  Vaxjobridgen
5 9 121 55.00 Peter Morin - Rune Johansson 861 89674  Vaxjobridgen
6 5 109 49.55  Olle Rundgvist - Géran Emvall 872 80288  Véax|obridgen
7 2 103 46.82  Jorgen Dahl - Hakan Ottosson 50187 880 Ingelstad BK - Vaxjobridgen
7 8 103 46.82  Jon Jonsson - Kjell Gustavsson 59992 88159 Vaxjobridgen - Ingelstad BK
9 11 102 46.36  Bengt Bengtsson - Kjell-Ake Jacobsson 11264 28262 Vaxjobridgen
10 3 99 45.00 Dimitris Margaronis - Rolf Jénsson 29549 62228 Ingelstad BK
11 10 93 42.27  Bengt-Uno Lilja - Karl-Erik Fransson 29550 47645 Ingelstad BK
12 1 69 31.36  Olle lvarsson - Kennart Nilsson 944 63453 Ingelstad BK
1 473 Basta kontrakt 2 & EKn95 Basta kontrakt 3 » EK9875 Basta kontrakt
Nord v 854 44 O =-420 Ost vE2 64 N =1370 Syd v 1042 3v ND-1-100
Ingen + D43 NS + K10854 ov +D
#D10654 & ¢ v & NT *K8 & ¢ v & NT #KKn5 & ¢ v & NT
4 EK105 #DKn84 N6 3323 4D7642 4K103 N 129 8 8 11 «D64 4102 N4 3883
vD1093 vEK7 S6 3323 v 383 vKKn9764 S 119 7 7 10 vK953 v8 S31783
¢ EK7 ¢ Kn962 O 7 1010108 ¢ Kn632 ¢ E7 013552 ¢ E752 ¢ KKn864 09 9556
#Kn3 #9092 V 7 1010108 #Kn7 #103 V13552 *84 #«ED1097 V995586
# 962 8 & Kn3
v Kn62 v D105 v EDKn76
+ 1085 + D9 + 1093
#EK87 #ED96542 #632
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 9 54 0-1 *A 50 90 10| 6 3 3NN+3 v4 690 90 10| 7 4 24 N+1 v8 140 10.0 0.0
12 1 3NV-1 LY 50 90 10|12 1 3NN+3 v6 690 90 10| 5 1 44 N-2 *4 -100 7.0 3.0
2 8 340+1 &A -170 6.0 40| 5 7 3NN+2 &T 660 6.0 40| 6 8 3vS-2 8 -100 7.0 3.0
4 11 44 V= *4 -420 30 70| 4 11 3NS+1 42 630 40 6.0(11 10 24 N-3 v8 -150 3.0 7.0
5 7 44 0= *A -420 30 70(10 9 34S+2 v8 150 20 80|12 2 34 N-3 v8 -150 3.0 7.0
6 3 44 V+1l a3 -450 0.0 100| 2 8 4#S-= v8 130 0.0 100 3 9 4vDS-2 &8 -300 0.0 10.0
4 » KKn854 Bésta kontrakt 5 & K109 Bésta kontrakt 6 & EKD92 Bésta kontrakt
Vast v 86 44 N D -2 -500 Nord v742 5v V =-450 Ost v 109872 3¢ S =110
Alla + D9765 NS ¢+ Kn752 ov *-
*6 & ¢ v & NT #1087 & ¢ v & NT #D86 & ¢ v & NT
473 4 D102 N45 383 «ED8 4 Kn7 N37 26 3 87 4543 N59586
v D92 v EKn75 S 45383 vE109865 v KKn3 S3726 3 vKD3 vEKn654 S59586
¢+ Kn1032 ¢ EK4 098959 +D9 ¢ E43 09 6 107 10 49432 ¢ EI10 O5 4837
#KKn75 #E109 V989509 *K2 #Kn9653 V9 6 117 10 #EK52 #Kn74 V54857
4~ E96 465432 4 Kn106
v K1043 vD v-
+8 + K1086 + KDKn8765
#D8432 «ED4 #1093
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 8 4v0-3 +8 300 100 00| 4 10 3v V+1 &7 -170 100 0.0| 6 2 4vDO-2 K 500 10.0 0.0
12 2 3NV-1 44 100 80 20| 7 9 4vV= 8 -420 70 30| 4 10 44 N+2 ¢A 480 80 20
5 1 INO+3 &2 -180 50 50|12 3 4v V= v2 -420 70 30| 1 11 24 N+1 &4 140 6.0 4.0
11 10 INO+3 &2 -180 50 50| 1 11 4v V+1 v5 -450 20 80|12 3 3¢ S= «A 110 40 6.0
3 9 3NO= *2 -600 1.0 90| 6 2 4vyV+1l 49 -450 20 80| 7 9 4¢5S-1 A -50 1.0 9.0
7 4 3NV= v8 -600 10 90| 8 5 4vV+l 49 -450 20 80| 8 5 4¢5S-1 *A -50 10 90
7 & K10532 Bésta kontrakt 8 4 ED72 Bésta kontrakt 9 4 Kn10765 Bésta kontrakt
Syd v10 54 S =650 Vast v EKn107 4v N =420 Nord v43 5¢ N D -3-500
Alla ¢ K9432 Ingen *4 ov + EKn84
»87 & ¢ v & NT #EKD6 & ¢ v & NT *43 & ¢ v & NT
«ED 496 N 6 1010117 48 4Kn10965 N 7 6 108 8 «E32 « KD9 N38 355
v 642 v K53 S 6 1010117 v D92 vK5 S 7 6 108 8 vED1096 vK85 S 38355
¢ DKn8 ¢ 1075 06 3326 ¢ KDKn5 ¢ E872 06 7 355 + K2 465 O 105 106 7
#KDKn92 #E10543 V63326 #109752 #Kn8 V67355 #K85 #DKn1076 V 105 106 7
4 Kn874 4 K43 484
v EDKn987 v 8643 vKn72
+ E6 410963 + D10973
»6 #43 *E92
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 6 44 S= «K 620 9.0 10| 8 10 4y N+1 «J 450 100 00| 9 11 3NO-2 ¢+3 200 10.0 0.0
12 4 4a N= &A 620 90 10| 5 11 4v N= 4J 420 80 20|12 5 3NV-1 45 100 80 20
8 10 44 V-4 vT 400 6.0 40| 2 1 2¢N+2 «T 170 50 50| 6 1 3vV+l 4 -170 6.0 4.0
7 3 340-3 48 300 40 60| 7 3 2¢vN+2 7 170 50 50| 8 4 4v V= *4 -620 40 6.0
2 1 3aN+2 #A 200 20 80| 9 6 1&aN+1 &) 90 20 80(10 7 3NV+1 +4 -630 20 8.0
5 11 3vyS+1 &A 170 0.0 100|12 4 1aN= ] 70 0.0 100 3 2 4vV+l ¢ A -650 0.0 10.0
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10 4 K10862 Basta kontrakt 11 483 Basta kontrakt 12 & K97 Basta kontrakt
Ost v K5 5¢ SD-2-500 Syd v EKKn9 44 S =130 Vast v 10982 6NT V =-990
Alla + Kn1043 Ingen + K853 NS + DKn7
83 & ¢ v & NT #EKn6 & ¢ v & NT D94 & ¢ v & NT
«D7 & E543 N3 9376 & DKn2 « EK9654 N 108 8 5 6 4 EKNn104 «D N13121
vED987 v1063 S39376 v D64 v 10853 S 108 8 5 6 vED v KKn743 S13121
4765 +9 09 4 104 7 +D10762 ¢9 02 4486 ¢ K32 ¢+ E104 O 1210121012
#EKn2  #K10974 V 104 106 7 294 #K8 V25587 #EK75 #10632 V 1210121012
«Kn9 » 107 # 86532
v Kn42 v72 v 65
+ EKD82 + EKn4 49865
#D65 #D107532 *Kn8
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 11 24 N= vT 110 100 00| 9 5 44S= «Q 130 80 20|10 1 34V= vT -140 100 0.0
12 5 3¢ S-1 ¢+5 -100 80 20(10 1 34S+1 a2 130 80 20| 9 5 4vV+2 v8 -480 80 20
10 7 3vO= ¢4 -140 6.0 40|11 8 44S= «Q 130 80 20| 4 3 3NV+3 a7 -490 30 70
8 4 3vV+l ¢J -170 40 60| 4 3 INN-1 Ly -50 40 60| 7 2 3NV+3 vT -490 30 7.0
3 2 2vVH+3 ¢J -200 20 80| 7 2 44N-2 aA -100 20 80|11 8 3NV+3 vT -490 30 7.0
6 1 4v V= *J -620 0.0 100(12 6 24 0O= &4 -110 0.0 10.0|12 6 3NV +3 +Q -490 30 70
13 4105 Basta kontrakt 14 4107 Basta kontrakt 15 4 D98632 Basta kontrakt
Nord v 8532 3« N =110 Ost v K62 4v O =-420 Syd v E853 3NTV =-400
Alla + K8 Ingen + E963 NS .-
#EK1075 & ¢ v & NT #Kn1043 & ¢ v & NT *874 & ¢ v & NT
4 EKKn643 4 D8 N9 6 757 4 E65 &« K92 N5536 3 4 EKN74 &K N35674
v KKn7 vD104 S96757 vE9875 vKnl04 S5536 4 v10942 vK6 S35674
+54 +D109732 O 3 7 5 8 4 ¢ 1075 ¢ KD4 08 8 107 9 + K9 ¢Kn10643 O 108 7 6 9
+Kn3 »86 V37584 D7 #E852 vV 8 8 107 9 #1093  #EKKn65 V 108 7 6 9
4972 » DKn843 105
vE96 vD3 v DKn7
+ EKn6 + Kn82 + ED8752
#D942 *K96 »D2
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 9 3&N-= «Q 110 80 20| 8 3 3NO-1 43 50 100 00| 6 5 3¢ O-3 T 150 10.0 0.0
5 4 3#S= «K 110 80 20| 5 4 2vV+l oT -140 80 20|12 8 3#N+1 T 130 8.0 20
11 2 3#S-= «A 110 80 20(11 2 2vV+2 oT -170 50 50(11 7 3NV-1 8 50 6.0 4.0
8 3 3aV-1 «A 100 40 6.0(12 7 3vO+1 &6 -170 50 50| 2 10 3#O0+1 &T -130 30 7.0
12 7 34 N- s A -100 20 80| 1 9 INO+3 +4 -180 10 90| 9 4 340+1 o7 -130 3.0 7.0
10 6 24 V= A -110 0.0 10010 6 INO+3 &4 -180 1.0 90| 1 3 3¢+S-4 &3 -400 0.0 10.0
16 & K64 Bésta kontrakt 17  KD642 Bésta kontrakt 18 497 Bésta kontrakt
Vast v K8 2NT N =120 Nord v Kn2 6NT O =-990 Ost v 9543 44 O D -2 300
oV 410862 Ingen + DKn105 NS + K985
#EKKn10 & ¢ v & NT #109 & ¢ v & NT #KKn7 & ¢ v & NT
4 Kn9853 & ED N8 6 7 6 8 43 & EKn9 NOG6 060 4 D852 4 EK643 N 106 105 7
v D972 v 103 S7 6658 v K103 v ED987 S06 060 vKn72 108 S 106 105 7
+ K75 ¢ E943 056 6 75 + K3 ¢ 842 O 127 127 12 ¢ ED72 ¢ Knl03 036284
*7 #85432 V56675 #ED87432 #65 vV 127 127 12 84 #D96 V36284
41072 410875 «Knl10
v EKn654 v 654 v EKD6
¢ DKn + E976 ¢+ 64
*D96 #KKn #E10532
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
6 5 INN+1 +3 120 100 00| 3 11 4vO= a7 -420 90 10|12 9 3vS= 45 140 10.0 0.0
2 10 2¢vS-1 &7 -50 70 30| 7 6 4v 0= 8 -420 90 10| 1 8 340-1 vA 50 50 5.0
11 7 INN-1 &5 -50 70 3.0 1 8 5v0+2 48 -510 40 60| 2 4 340-1 vA 50 50 5.0
1 3 4vyN-2 LY -100 20 80(10 5 49y O+3 &5 -510 40 60| 3 11 340-1 vQ 50 50 5.0
9 4 2vS-2 3 -100 20 80(12 9 4v O+3 &T -510 40 6010 5 34V-1 vA 50 50 5.0
12 8 3v N-2 v3 -100 20 80| 2 4 3NO+4 ¢3 -520 0.0 100 7 6 24 0= vA -110 0.0 10.0
19 4 K3 Bésta kontrakt 20 ~ E876 Bésta kontrakt 21 & DKn Bésta kontrakt
Syd v KKn3 3¢ S =110 Vast v 9543 4v N =620 Nord v KKn98 2NT O =-120
oV + D109852 Alla + K10 NS + D10853
#65 & ¢ v & NT #E43 & ¢ v & NT »87 & ¢ v & NT
#1098 « ED76 N4956 8 4KD102 4954 N 5 10106 6 #1042 » K98 N4 7755
v D92 vE876 S4956 8 v D87 vE S 5 10106 6 v 106 v ED54 S47 7565
+3 ¢+ E64 0947765 +D74 4986 08 33565 ¢ Kn42 ¢+ K76 09 6 6 8 8
#D109872 #43 V94775 #KD10 #Kn98765 V 8 3 3 5 6 #KKn1096 #EDS5 V86 6 7 8
& Kn542 & Kn3 « E7653
v 1054 v KKn1062 v732
¢ KKn7 ¢ EKn532 ¢+ E9
#EKKn *2 #432
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 1 INN+2 v7 150 90 10| 2 9 4vS= K 620 90 10| 4 6 1v0O-2 ¢A 100 10.0 0.0
12 10 INN+2 v6 150 90 10| 4 1 4vyN= 4 620 90 10 5 2 1v0O-1 ¢ A 50 80 20
2 9 INN= v8 90 40 6.0|12 10 3v S+1 K 170 6.0 40(12 11 24 0+1 +A -110 6.0 4.0
3 5 2¢ N= &4 90 40 6.0| 3 5 2v S+l K 140 30 70| 3 10 INO+1 43 -120 3.0 7.0
11 6 INN= v6 90 40 60|11 6 3vS= oK 140 30 70 9 8 2NO= 3 -120 30 70
8 7 3¢ N-1 &4 -50 0.0 100| 8 7 3#0= »2 -110 0.0 100 1 7 INO+2 46 -150 0.0 10.0
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22 4 KD2 Basta kontrakt
Ost v K976 ANT S =430
ov + K53

D384 & ¢ v & NT
#1096 & Kn87543 N7 7 9 4 10
vD vE32 S779 410
¢+ D74 + 1086 06 226 3
&#EKKN1065 &9 V622%63

s E

v Kn10854

¢ EKn92

»732
Par Kontr Ut Res Poang
4 6 3v S+l &A 170 10.0 0.0
5 2 2v S+l &A 140 70 3.0
12 11 3v N= &9 140 70 3.0
3 10 464 O-1 v4 100 40 6.0
9 8 4vS-1 &A -50 20 8.0
1 7 24 O+2 &7 -170 0.0 10.0
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